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Mutiplication

Mutiplication is adding the same number to a specified number of
times.

Example: 4+4+4=12

Here, we add 4 three times and the answer is 12.

This can be writtenas 4 x 3 = 12,

Multiplication is quicker way to add the number occuring repeatedly.

1.1 Symbol of multiplication

we use the symbol "x " to represent multiplication.

MU U M Ul

4 Trees in 5 groups is 20

This can be writtenas 4 x 5 =20
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. Number of trees in each <« 4 X Hh[—1|20 —» Total number of trees
group ¢ — % it

Mutiplication of a number with other number can be done in the
following ways.

(i) Dot multiplication (ii) Repeated addition  (iii) Regrouping
(iv) Standard multiplication algorithm  (v) Lattice multiplication

1.2 Dot multiplication: 0
& Complete the following table. ®
Number of number of Total number
horizontal rows | vertical columns of stars

Stars

2 4 2x4=-8

* %
* %
* %
* %

% 2% 2% %

% % ¢ | 4%
%22 | 2% 2% %%

* % %
* % %
* % %

% % %
% % %
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1.3 Repeated addition:

O

Let us recall the repeated addition we have learnt in lower classes.

i)  Find the total number of flowers.

We can find the total number of flowers as follows.

3+3+3=

3 | groups of | 3 | flowers make | 9 3x3:=9

9

ii) Find the total number of leaves.

iidd

didd

didé

4+4+4+4=

didé

iii) How many apples are there in four plates

4x4:=-16

i

There are four plates. Each has five apples.

Total number of apples =

5+5+5+5=
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1.4 Construction of multiplication tables of 2, 3, 4, 5, & 10

3

Multiplication table 2

" Multiplication
Each box has 2 balls | Repeated addition facts

facts
% 2 2x1=2
%% 2+2 2x2=4
%%% 2+2+2 2x3=6
%g%% 2+2+2+2 2x4=8

¢ ®

%%%%% 2+2+2+2+2 2x5=10
%%%%%% 2+2+2+2+2+2 2x6=12
%g%%ggg 2+2+2+2+2+2+2 2x7=14
ERRAARRRE® D 2+2+2+2+2+2+
PP DB® 5.0 2x8=16
PRRARARRRRRD 2+2+2+2+2+2+ 918

X =
PO RDDD 2,249
PPAPRPARPRPP®® 2+2+2+2+2+2+ 2 10— 20

X =
PO PDOIPORDDD 2424242

4
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2 leaves in 4 groups is 8.

This can be written as

4 times 2 is 8

Fill in the boxes:

2x6=

£

9x2=

3x2=
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Multiplication table 3

3

. Multiplication
Boxes of 3 stars Repeated addition facts
facts
*xx 3 3x1=3
Kkk  kkk 3+3 3x2=6
XXk  kkk  kkx 3+3+3 3x3=9
X%k % X%k x X%k X
3+3+3+3 3x4=12
X%k x
X%k X X%k % X%k x
3+3+3+3+3 3x5=15
Xk x Xk x
X%k X X%k x X%k X
3+3+3+3+3+3 3x6=18
X%k X X%k x X%k %X
@ X%k X X%k % X%k %X
il okl el 3+3+3+3+3+3+3 3x7=21
X%k x
x kX X%k x X%k x
ialalaialalalalala 3+3+3+3+3+3+3+3 3x8=24
*xx*x *xx*x
XXk  kkk kX%
ilalalalalalialolel 3+3+3+3+3+3 +3+3+3 3x9=27
XXk  kkk kXX
XXk  kkk kXX
XXk  kkk  kkkx
3+43+3+3+3+3+3+3+3+3| 3x10=30
XXk  kkk  kkk
x X%
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I like to jump by 3

BRI
78910 11 12 13 14 15 16 17 18 .

Multiples of 3=3,6,9,12,15, 18

: % Fill in the following tables: A

2| 3 | 4 5 10
6

15

. % Fill in the boxes:
6x3-= Hhx 3=

10x 3= 3x6=

4x 3= 3x10=
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Multiplication table 4

34

A chair has 4 . Multiplication
Repeated addition facts
legs facts
_ﬁ 4 4x1=-4
ﬁﬁ 4 +4 4x2=-8
ﬁ_ﬁﬁ 4+4+4 4x3=12
RRRF
RRRFF | ssnns | soem
ﬁﬁﬁﬁﬁ 4+4+4+4+4+14 4x6=24
w
ﬁﬁﬁﬁﬁ 4+4+4+4+4+4+4 4x7 =28
##
ﬁﬁﬁﬁﬁ 4+4+4+4+4+4+4+4 4x8=32
# /A
ﬁﬁﬁﬁﬁ 4+4+4+4+4+4+4+4+4 4x9:=36
ARAA
ﬁﬁ 4+4+4+4+4+4+4+4+4+4 | 4x10:=40
# W




I [ (] . [

Exef‘Cise o N N N N N N W N N N N N N N

n? Complete the table. A

X 1 2 3 4 5 6 7 8 9 | 10

® ®
If there are 4 toys in a box, how many toys will be there in 5 boxes?
X |=
Eg Fill in the boxes.

3 x =12 6 x =24
Bx4-= x3=12

x4 =28 4 x =16
9x4-= x4 =40
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Multiplication table 5

ne

A flower has 5 . Multiplication
Repeated addition facts

petals facts
% 5 bx1=5H
%% 5+5 5x2=10
%%% 5+5+5 5x3=15
BWASA®A® 5:5:5+5 dx4=20
g%%% F+5+5+5+5 bxbh=2h
§g$% hb+Hh+H5+Hh+H5+5H 5x6=30
§§§$ F+5+5+H5+5+5+5 bx7=35
gggg b+5+5+5+H5+5+H5+5H 5x8=40
st
g%%% b+5+5+5+5+5 +5+5+5H 5x9:=45
nes e
%%%% b+b5+5+5+5+5+5+5+5+5 H5x10=50

10



___________ x5 =10
4dx--em e =20
6x5=-----------

O%X - - - e e - - - - =45
............ x5 = 50

Exer‘Cise u?---------------

F1.E Fill in the blanks:

£

If there are 6 roses in a vase, how many roses will be there

in 6 vases?

X
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Multiplication table 10 ‘

Repeated Multiplication

10 pencils in one box

addition facts facts
I _
Y 10 10x1=10
Adddd ARAAA _
TR 10+10 10x2=20
TR _
D0bhE Addda dakd 10+10+10 10x3 =30
AdAd ARAAA AAAAA AAAAA _
TR 10+10+10+10 10x4=40
AAAA AAAAN AAAAR AMAAA ARAAD 10+10+10~ 10%5 = 50
NUMUN MMM MHMHN HMAMM MHNHN 10 + 10
AARAL AARAR AAAAD A4RAR ANAAA AdAad 10+10+10+ 10% 6 = 60
MUMMN WAEMM HUMHM HMMHN HMMEE AN H S 10+10 + 10

® bAAN A0RAR AAAAE AGAAN AAAA AAAA dadgy |10 +10+10+ 10%x7 =70 ®

NANAN HAAAR AANAN AAANN AAANN NANAA NHAHD |10 410+ 10 + 10

Abhad A4AA4 AARAA AAAAA ANAAA ANAAA Addd |10+ 10+10+

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA

VARG L DA B RAOD Tl 010410410+ 10 %8 - 80
m 10+10

AANAA AAARA ARA RN ARAAR ARG AR 10410410+
T R et ot M
AARARAAAAA AAARA AARAR 10+10+10

AAARA AAARA NAARA ARARA ARARD |10, 104 104
S oroeie ez
AAAAR ARRAAARAAA ARARA RARAA *10+10+

12
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Complete the following table: A

1 2 3 4 5 6 7 8 9 | 10

1.5 Multiplication by regrouping: 9

This method can be used by multiplying a two digit number.
Consider the following multiplication
53 x 7
53 can be regroup into 5 tens and 3 ones.
Hence, 53 x 7 can be written as (50 + 3) x 7
=(BOx7)+(3x7)

- 350 + 21
® - 371. ®

Epl ‘i*!i' §+§§-28

That is| 2 Times 14

14x2=|2x1Ten

2 x4 Ones

=/2x10 |+|2x4 |=20+8

14x2 |=|28

=

1. Multiply the following numbers by regrouping A
(i)75x8  (ii))26 x5  (iii)372x6  (iv)402x7  (v) 752 x3

13
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1.6 Multiplication using standard algorithm: G
Multiply using multiplication table
Step 1: Multiply Ones Step 2: Multiply Tens
T | O T | O
1| 4 1| 4
x | 2 4x2=8 x | 2 1x2=2
8 2 | 8
Product = 14 x 2 = 28
Example
1. Multiply. 23 x4 Sty
Step 1: Step 2 FEPIH3
H| T, O H| T|O
1 3x4=12 1 2x4:=-8
2 3 2 3
® ®
X 4 X 4
2 9 | 2
Product = 23 x 4 = 92
2. Multiply. 32 x5
Step 1: Step 2:
H| T]|O H|T|O
2x5=10
1 1
3|2 3| 2 3xb=15
X | 5 X | 5
0 1 6 | O

Product = 32 x 5 = 160

14
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1.7 Lattice multiplication:

Lattice multiplication is helpful while dealing
with numbers with more than two digits.
We follow the following steps in Lattice T 212B 4

multiplication.

Step 1: Write the numbers to be mutiplied as follows.

(i) B2 = 36 (ii) 893 x 25
5 2 8 9 3
2
6 5
Step 2: Draw diagonals of the square.
5 2 8 9 3
6 5

Step 3: Mulitiply the numbers and write them in the cells as shown

below
5 2 8 9 3
1 710 1. 71 0
56 67876
3 1 4 4 1
ol 2| 6 0l 5| %] °

11~ 0”5”5
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